arcsinx * arccosx = -1
arcsinx a9 [-P/2;P/2]
arccosx 3 [O;P]
-1<=x<=1

-1<=x<=1

(P/2-arccosx)arccosx=-1
P/2arccosx-arccos”2x+1=0

arccosx=t

-t"2+P/2t+1=0

tA2-P/2t-1=0

D=P"2/4+4=(P"2+16)/4
t=(P/2+V(P"2+16)/2)/2=P/4+V(P"2+16)/4=
(P+V(P*2+16))/4

t=(P-V(P"2+16))/4

arccosx 3 [O;P]
arccosx=(P+V(P"2+16))/4 -- noaxoaut
arccosx=(P-V(P"2+16))/4 -- oTpuy, -- He
nogxoguT

arccosx=(P+V(P"2+16))/4 \\cos
x=cos((P+V(P"2+16))/4)

V(1-ctgx)=cosx-sinx
cosx-sinx=V2sin(x+3P/4)
V2sin(x+3P/4)>=0
sin(x+3P/4)>=0
2Pk<=x+3P/4<=P+2Pk
2Pk-3P/4<=x<=P/4+2Pk

1-ctgx=cos”"2x-2cosx*sinx + sin*2x
1-ctgx=cos”"2x-2cosx*sinx + sin*2x
1-ctgx=1-2cosxsinx
ctgx=2cosxsinx

ctgx-2cosxsinx=0
cosx(1/sinx-2sinx)=0

cosx=0

x=P/2+Pk

1/sinx-2sinx=0

1-2sin*2x=0

sinx!=0

1-(1-cos2x)=0

cos2x=0

2x=P/2+Pk

x=P/4+Pk/2

OT1BeT x=P/4+PKk;-P/2+2Pk;-P/4+2PK.
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